
CF-1000 CROSS-FLOW WITH TRI-FOLD DOORS
SHOP FABBED PANELS REV F
NO REQ'D PART NO DESCRIPTION

prefix width length suffix

7 SMM PMK - PW - 44 x 84 - wall panel

4 SMM PMK - PW - 44 x 84 - F wall panel w/light frame

1 SMM PMK - PW - 12 x 84 - wall panel

1 SMM PMK - PW - 19 x 84 - wall panel

1 SMM PMK - JDF - 37 x 84 - personnel door frame

1 SMM PMK - DM - 36 x 83 - G personnel door w/glass

1 SMM PMK - PW - 24 x 84x108 - L frontal panel

1 SMM PMK - PW - 24 x 84x108 - R frontal panel

2 SMM PMK - FSK - 25.5 x 84x108 - frontal skin

1 SMM PMK - BFD - 79 x 107 - bi-fold filter door

1 SMM PMK - FD - 39.5 x 107 - filter door

1 SMM PMK - JT - 1.5 x 120 - top jamb w/gussets

2 SMM PMK - JS - 1.5 x 108 - H side jamb w/hinges

2 SMM PMK - FS - 3 x 107 - flat strip for outer door seal

2 SMM PMK - PH - 34 x 92 - hip panel

2 SMM PMK - PH - 34 x 92 - F hip panel w/light frame

2 SMM PMK - PH - 34 x 92 - FOS hip panel w/light frame offset

6 SMM PMK - AN - 1.5 x 92 - ceiling support angle

5 SMM PMK - PC - 44 x 120 - ceiling panel

1 SMM PMK - PC - 44 x 120 - F2 ceiling panel w/light frame

1 SMM PMK - PC - 12 x 120 - ceiling panel

2 SMM PMK - PW - 44 x 108 - wall panel

2 SMM PMK - PW - 25.5 x 109.5 - wall panel

2 SMM PMK - PW - 44 x 109.5 - wall panel

1 SMM PMK - PW - 32 x 109.5 - wall panel

2 SMM PMK - PW - 44 x 48 - wall panel

1 SMM PMK - PW - 44 x 75 - H34 wall panel w/34 fan hole

2 SMM PMK - PW - 24 x 84 - wall panel

2 SMM PMK - PEF - 24 x 84 - exhaust filter grid

2 SMM PMK - PEF - 42.5 x 84 - exhaust filter grid

1 SMM PMK - PP - 44 x 61.5 - plenum bottom

1 SMM PMK - PP - 44 x 61.5 - C plenum bottom w/connecting channel

3 SMM PMK - AN - 39.5 x 2 - SW sweep angle
1 SMM PMK - LS - 3 x 4 - latch support

PURCHASED ITEMS

NO REQ'D DESCRIPTION

10 MFG-PMK - W - 145 24x48x0.25" clear tempered glass

10 MFG-PMK - W - 147 daybrite #2GT8440120-RL (2x4 layin)

6 MFG-PMK - W - 149 6-1/2" pull handle zn

24 MFG-PMK - W - 152 20x20 fibglas pad 50/cs

15 MFG-PMK - W - 153 20x20 55 series filter intake 20/cs

1000 MFG-PMK - W - 155A 10x3/4 TEK screw

3 MFG-PMK - W - 156 brixton latch

20 MFG-PMK - W - 157 siliconized caulking

4 MFG-PMK - W - 158 1/2x3/4/17 ft door seals  bag

1 MFG-PMK - W - 159 inclined manometer

2 MFG-PMK - W - 160 1/8x4x120 duro 60 rubber door seal

30 MFG-PMK - W - 161 1/4x1-1/4 concrete screws  ea
20 light tabs light tabs

8 MFG-PMK - R - 101 3/8x1 bolt

8 MFG-PMK - S - 111 3/8 lock washer
8 MFG-PMK - T - 101 3/8 nut

PART NO



Pe
rs

on
ne

l D
oo

r

S
TA

N
D

A
R

D
 T

O
O

LS
 A

N
D

 E
Q

U
IP

M
EN

T 
C
O

.
G

re
en

sb
or

o,
 N

C
 2

74
05

Ph
 -

 1
-8

00
-4

51
-2

42
5

ti
tle

C
F-

10
00

 S
H

 1
 O

F 
2

X
X
X
X

C
F-

10
00

pa
rt

 n
o

-
or

de
r 

no

TB
EA

C
H

dr
aw

n 
by

fil
e 

na
m

e

6-
17

-1
3

da
te

re
v

F

N
O

TE
S:

- 
A
LL

 M
A
TE

R
IA

LS
 O

F 
C

O
N

S
TR

U
C

TI
O

N
 A

R
E 

N
O

N
-C

O
M

B
U
ST

IB
LE

.
- 

A
LL

 P
A
N

E
LS

 A
R

E
 1

8
 G

A
. 
G

AL
V 

SH
EE

T 
ST

EE
L.

- 
W

IN
D

O
W

S
 A

R
E

1
4
" 

TE
M

PE
R

E
D

 G
LA

SS
.

- 
FA

N
 I

S
 T

U
B

E
A
X

IA
L,

 A
LU

M
IN

U
M

 B
LA

D
E
 W

IT
H

 D
R

IV
E
 B

E
LT

 I
N

 E
N

C
LO

SE
D

 S
H

R
O

U
D

, U
L 

AP
PR

O
VE

D
.

2
4
x4

8
 L

IG
H

T 
FI

X
TU

R
E
, 

E
N

C
LO

SE
D

, U
L 

LI
ST

ED
,

M
O

U
N

TE
D

 B
E
H

IN
D

 0
.2

5
" 

TE
M

PE
R
ED

 G
LA

SS
 W

IN
D

O
W

1
0
 F

IX
TU

R
E
S 

TO
TA

L

M
A
N

U
FA

C
TU

R
E
D

 I
N

 C
O

M
PL

IA
N

C
E
 W

IT
H

 N
FP

A 
33

, O
SH

A,
A
N

D
 N

E
C

 G
U
ID

EL
IN

ES
N

O
TE

;
C

O
N

TR
A
C

TO
R

 T
O

 V
E
R

IF
Y 

A
LL

 D
IM

E
N

SI
O

N
S 

IN
 F

IE
LD

 A
N

D
R

E
PO

R
T 

A
N

Y 
D

IS
C

R
E
PA

N
C

IE
S
 T

O
 E

N
G

IN
EE

R
 P

R
IO

R
 T

O
S
TA

R
TI

N
G

 W
O

R
K

C
R

O
S

S
 F

LO
W

-1
00

0
1
4'

-3
"W

 x
 9

'-
1-

1
2
"H

 x
 2

6
'-

9
"L

 O
U
TS

ID
E

1
4'

-0
"W

 x
 9

'-
0"

H
 x

 2
6
'-

6"
L 

IN
SI

D
E

1
0'

W
x9

'H
 T

R
I-

FO
LD

FI
LT

E
R

 D
O

O
R

E
xh

au
st

 F
an

, 
34

" 
di

a,
3
-h

p,
 1

39
65

 C
FM

 @
 0

.5
" 

s.
p.

U
L/

A
M

C
A
 A

pp
ro

ve
d



F
re

v

da
te6

-1
7-

13

fil
e 

na
m

e

dr
aw

n 
by

TB
EA

C
H

or
de

r 
no

-
pa

rt
 n

o
C

F-
10

00

X
X
X
X

C
F-

10
00

 S
H

 2
 O

F 
2

tit
leS

TA
N

D
A
R

D
 T

O
O

LS
 A

N
D

 E
Q

U
IP

M
EN

T 
C
O

.
G

re
en

sb
or

o,
 N

C
 2

74
05

Ph
 -

 1
-8

00
-4

51
-2

42
5

44x84

44x84F

44
x1

20

12
x1

20

24x84x108-L

24x84x108-R

12x84

34
x9

2H

34
x9

2H
F

34
x9

2 
HF

OS

1.
5x

1.
5x

92
 3

 P
ER

 S
ID

E

44
x1

20

44
x1

20

44
x1

20

44
x1

20

44x84

44x84

44x84

44x84

44x84

44x84

44x84F

44x84F

44x84F
1.

5x
1.

5x
12

0

TO
P 

D
OO

R 
JA

M
B

3x
10

7
2 

PL

79
x1

07
B
I-

FO
LD

 F
IL

TE
R

D
O

O
R

37
x8

4 
PE

R
S
O

N
N

EL
 D

O
O

R 
FR

AM
E

36
x8

3
PE

R
S
O

N
N

EL
 D

O
O

R

25.5x109.5

25.5x109.5

44x109.5

32x109.5

44x109.5

44x108

44
x4

8

44
x4

8

44
x7

5H
34

24
x8

4E
FG 42

.5
X
84

EF
G

42
.5

x8
4E

FG
24

x8
4E

FG

44
x6

1.
5

2 
PL

   
  2

4x
84

SM
O
OT

H 
SI

DE
 2

 P
L

44
x1

08
, 

44
x5

7,
 &

 2
4x

84
 P

AN
EL

S
O

M
IT

TE
D

 F
O

R
 C

LA
RI

TY

PL
EN

U
M

 -
 B

A
C
K

 V
IE

W

44
x4

8

44x108

PL
EN

U
M

 C
O

R
N

ER
 D

ET
AI

L
N

O
TE

 O
VE

RL
AP

34
x9

2H
FO

S
34

x9
2H

F
34

x9
2H

44
x1

20
F2

39.5x107 FILTER DOOR

19x84

25.5x109.5

25.5x84x108-FSK

25.5x84x108-FSK

1.
5x

1.
5x

10
8 

SI
DE

 J
AM

B

W
/ 

HI
NG

ES
 2

 P
L




